
5- A water tank has steps inside it. A monkey is 
sitting on the topmost step (i.e., the first step). 
The water level is at the ninth step.

(i) He jumps 3 steps down and then jumps back 2  
steps up In how many jumps will he reach the water level.

(ii) After drinking water, he wants to go back. For this, he jumps 4 
steps up and then jumps back 2 steps down in every move. In how 
many jumps will he reach back the top step?

(iii) If the number of steps moved down is represented by negative 
integers and the number of steps moved up by positive integers, 
represent his move in part (i) and (ii) by completing the following.

Find the angle which equal to its complement.
8- Find the angle which is equal to its supplement.
9- Can two angles be supplementary if both of them are:

(i) acute? (ii) obtuse? (iii) right?
10- Michael finished colouring a picture in     hour. Vaibhav finished 

colouring the same picture in    hour. Who worked longer? By 
what fraction was it longer?

(a) –3 + 2 – ------= –8 (b) 4 – 2------=8. In (a) the sum (–8) represents 
going down by eight steps. So what will the sum 8 in (b) represent?

6- Arrange the following in descending order:
     ,       , 

7- 
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Note:1- All the written work is to be done in the fair note book.
         2- Prepare in all subject taught topics for test just on reopening of the 

school.
fgUnh&
1- fdlh fgUnh lekpkj i= ls izfrfnu ,d i`"B lqys[k 20 i`"B dh jQ dkWih 

cukdj fyf[k,A ¼dsoy 15 i`"B½
2- 'kgj esa c<+rh pksjh dh ?kVukvksa dh f'kdk;r djrs gq, iqfyl vf/kdkjh dks i= 

fyf[k,A ¼O;kdj.k dh vH;kl iqfLrdk ij½
3- laKk vkSj loZuke ds Hksnksa dh ifjHkk"kk mnkgj.k lfgr daBLFk dhft,A
4- olar ikB~;&iqLrd ds ikB&1 ̂ ^ge iaNh mUeqDr xxu ds** esa iz;qDr laKk vkSj 

fo'ks"k.k 'kCnksa dks Nk¡Vdj rkfydk cukb,A 
ENGLISH-

¼O;kdj.k dh vH;kl iqfLrdk ij½

SOCIAL SCIENCE- 

SCIENCE-

1- Reader- Read Lesson- 2 completely and sort out difficult word meanings 
and Sort out Parts of Speech from page- 31.

2- Write a letter to the local police complaining about a theft that took place 
the previous night at your neighbour's flat.

3- Write a paragraph in about 100 words on the tour which you recently 
made in this summer vacation.

1- To learn all taught syllabus related to I Periodic Test 2023 of History, 
Geography and Civics.

2- Explain in details about the Rock Cycle. Draw the figure of Rock Cycle .
3- In a political map of India show the following:

(a) River Narmada (b) River Tapi (c) Neighbouring countries of India.

1- On last Monday, Pankaj was dealing immense cough and cold. Besides 
this, he was suffering from a great headache. So, he decided to take a 
leave on that day so that he could take some rest at his home. After one 
hour he thought to check his fever through a clinical thermometer, so 
before using it, he washed it and started shaking it very fast in his hand, 
so that the mercury level of thermometer gets reduced. At the same 
time, his elder brother Vishwas scold him and suggested him to shake 
the thermometer slowly.
(a) State some precautionary measures while checking the fever 
       through a clinical thermometer.
(b)  Is it necessary to shake the thermometer before using it.

2- Ajay's father works in a wool industry. In his line of work, he does the job 
of sorting the fleece of sheep into fibres of different qualities. Ajay 
noticed that his father and other workers who were doing the similar kind 
of jobs faced a number of health problems. Ajay discussed this problem 
with his friends and he came to know that his father is getting health 
problems due to the nature of his work. Ajay is worried about his father's 
health. He advised his father to take care of their health and told him 
about the occupational hazards.

Now answer the following questions.
(i)  What do you mean by occupational hazard?
(ii) Name the diseases that workers suffer?
(iii) How can most of the occupational hazards be minimised? 

COMPUTER- 

1- Solve the given questions?

(i) (101110) -----------( ) (ii) (001100) -----------()2 10 2 10

(iii) (64) -----------() (iv) (146) -----------( )10 8 10 2

(v) 110010 + 1010 (vi) 1011100 – 1010

2- Explain about Internet of Things. Write any 2 applications of 
Internet things.

3- Write the uses of Artificial Intelligence in Health Care.

4- Write the steps to create an E-mail ID.

laLd`r& 
1- viuh vH;kl iqfLrdk ls izFke% ,oa f}rh;% ikB ds iz'uksRrj ;kn dhft,A
2- jek vkSj Qy ds 'kCn :i ;kn dhft,A
3- daB] rkyq] ew/kkZ vkSj nar ls mPpkfjr gksus okys o.kksZa dks ;kn dhft,A
4- viuh ikB~;&iqLrd ls dksbZ nks 'yksd ;kn dhft,A
MATHS-
1-

Following number line shows the temperature in degree Celsius 
(°C) at different places on a particular day.

(a) Observe this number line and write the temperature of the places 
marked on it.

(b) What is the temperature difference between the hottest and the 
coldest places among the above?

(c) What is the temperature difference between Lahulspriti and 
Srinagar?

3- A plane is flying at the height of 5000 m above 
the sea level. At a particular point, it is exactly above 
a submarine flowing 1200 m below the sea level. 
What is the vertical distance between them?

4- Rita goes 20 km towards east from a point A to the point B. From B, 
she moves 30 km towards west along the same road. If the 
distance towards east is represented by a positive integer, then 
how will you represent her final position from A?

In a quiz, positive marks are given for correct answers and 
negative marks are given for incorrect answers. If Jack's scores in 
five successive rounds were 25,- 5,- 10,15 and 10, what was his 
total at the end?

2- 
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